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M. Com. (E-Commerce) (Semester - 1) Examination - 2009
E-COMMERCE TECHNOLOGY
Time : 3 Hours] [Max. Marks : 70
Instructions :
(1) All questions are compulsory.

(2) Draw neat labelled diagram if necessary.

Q.1) Explain Electronic Payment System and Types of Electronic Payment

Systems. [10]
OR
Q.1) Explain E-cycle of Internet Marketing with the Internet Marketing
Techniques. [10]
Q.2) Answer the following in brief : (Any Four) [20]

(@) What is E-commerce ? Explain main activities of E-commerce.
(b) Explain World Wide Web.

(c) What is Encryption and Decryption ?

(d) What is Electronic Data Exchange ? Explain limitations of EDI.

(e) What is Computer Crime ? Explain types of Computer Crimes.
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Q.3) Answer the following in brief : (Any Four) [20]
(a) Explain E-governance of India.

(b) What are the Components of an Internet Information Technology
Structure ?

(c) Explain the following terms :

(1) Internet Service Provider

(i) Domain Names with example.
(d) What is Hacking ?

() What is Internet ? Explain different types of Networks.

Q.4) Write short notes : (Any Four) [20]
(a) Shopping Bots
(b)  Threats
(c) Digital Signature
(d)  Electronic Cash

(e) Secret Key Cryptography
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M. Com. (E-Commerce) (Semester - 1) Examination - 2009
COMPUTER APPLICATIONS IN BUSINESS
Time : 3 Hours] [Max. Marks : 70
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Define Network. Discuss LAN, WAN and MAN. [10]
OR
(B) What are Software Tools ? Describe major categories of
Software Tools with example. [10]
Q.2) Attempt any five : [4x5=20]

(a) What is Word Processing ? Describe different components of
Word Processing.

(b) What is Operating System ? Explain its types.

(c) What are the steps in Designing Database ?

(d) What are the objectives of Spreadsheet ?

(e) Explain various methods of Creation of Presentation Slide.
() Explain the term World Wide Web.

Q.3) Attempt any five : [4x5=20]
(a) Explain different types of Computers based on Size and Speed.
(b) Define Software and explain its types.
(c) Explain use of MS-Office in Business.

(d) What do you meant by Client-Server Computing ? How does
it differ from Networking ?

(e) Define : Entity and Attributes.
() Explain different types of Charts in MS-Excel.
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Q.4) Attempt any five : [4x5=20]
(a) How to modify table structure in Database ?
(b) Explain the following functions with syntax and example :
(1) INT()
(i) MOD()
(iii) SUM()
(iv) AVG()
(c) Explain Batch Processing in detail.

(d) What is File ? Describe different basic operations performed on
File.

(e) Explain CPU.

() “MS-Powerpoint is a better option for business presentation.”
Comment.
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[3670]-154
M. Com. (E-Commerce) (Semester - 1) Examination - 2009
ORGANISATIONAL DEVELOPMENT AND CHANGE MANAGEMENT
Time : 3 Hours] [Max. Marks : 70
Instruction :
(1) All questions are compulsory.
(2)  All questions carry equal marks.

Q.1) What do you mean by Organisation Change ? State its necessity.
OR

Q.1) Discuss the role of Organisational Development in improvement of
Business Organisation.

Q.2) What do you mean by the term Culture ? What are the facts of
Organisational Culture ?

OR

Q.2) Explain the term Organisation Climate ? What are the factors that influence,
Organisational Climate ?

Q.3) Define the term Training. State its utility and need in development of
Human Resources.

OR
Q.3) What are the different methods of Training ? State their salient features.
Q.4) What do you mean by the term Learning Organisation ? How an
organisations can encourage learning attitude ?
OR

Q.4) What do you mean by the term Management Development ? State its needs
and importance.
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Q.5) Write short notes : (Any Two)
(@) Importance of Creativity in Organisational Development
(b) Characteristics of Learning Organisation
(c) Concept of Empowerment

(d) Factors considered to Assess Training Needs
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ACCOUNTING FOR MANAGEMENT
[Max. Marks : 70

3 Hours]

Instruction :

All questions are compulsory and carry equal marks.

M. Com. (E-Commerce) (Semester - 1) Examination - 2009

Q.1) Define the term ‘Management Accounting’. Explain its role in the success
of any large scale organisation.

Q.1)

Q.2)

OR
What is Analysis and Interpretation of Financial Statements ? Explain
various methods of such analysis.
The following are the Balance Sheets of SPC, Limited, Pune, prepared
as on 31st March, 2008 and 31st March, 2009 :
Liabilities 31-03-08 | 31-03-09 | Assets 31-03-08 | 31-03-09
Share Capital 10,00,000|12,00,000 | Plant and
Machinery 5,60,000| 6,00,000
General Reserve 2,30,000| 2,50,000 | Land and Building| 8,00,000| 7,80,000
Profit and Loss A/c. | 1,70,000| 1,96,000 | Furniture 2,00,000 | 2,30,000
Mortgaged Loan 1,50,000 —| Sundry Debtors 1,73,000 | 1,80,000
15% Debentures 3,50,000 | 2,50,000 | Bills Receivable 40,000| 60,000
Sundry Creditors 1,63,000 | 1,58,000 | Stock 2,07,000| 1,58,000
Bills Payable 83,000 73,000| Cash and Bank 1,80,000| 1,62,000
Provision for Preliminary
Taxation 54,000 73,000 Expenses 40,000 30,000
Total 22,00,000 {22,00,000 Total 22,00,000 |22,00,000
1 P.T.O.
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You are required to prepare Fund Flow Statement with necessary
working notes after considering the following information :

(1) Dividend was distributed on the shares @ 10%.

(2) Plant and Machinery and Furniture was depreciated by 10% and
Land and Building was depreciated by 2.5%.

(3) The 15% Debentures are redeemed by purchasing in the open
market at Rs. 94 per debenture.

(4) During the year Rs. 40,000 are paid by way of taxes.

(5) During the year a machine costing Rs. 60,000 having depreciated
up to 70% and valued at Rs. 30,000 was exchanged for the new
machine. The balance payment of the new machine was made
in cash.

(6) Shares are issued at 5% discount which was written off through
the General Reserve Account.

Q.3) From different ratios given below, complete the Balance Sheet with as many
details as possible :

. Sales to Total Assets 3
. Sales to Fixed Assets 5

. Current Assets are 2/3rd of the Fixed Assets

. Inventory Turnover Ratio 20
. Debtors Turnover Ratio 15
. Total Assets to Net Worth 4
. Debt Equity Ratio 1

. Sales during the year are Rs. 40,00,000.
. Gross Profit Ratio is - 25%.
OR
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Q.3) The following particulars are obtained from the cost records of a factory
manufacturing products ‘A’ and ‘B’ :

Particulars Product ‘A’ Product ‘B’

(Rs.) (Rs.)
Selling Price 150 200
Material Cost @ Rs. 15 per unit 60 45
Labour Cost @ Rs. 10 per hour 30 50
Variable Overheads 20 55
Total Fixed Cost is Rs. 25,000.

You are required to advise management as to which product is better in
the following different situations :

1)
(2)
3)
(4)
()

If the total sales in units is the key factor.

If the total sales in value is the key factor.

If the raw material is in short supply.

If the availability of the labour hours is restricted.

If the raw material available is 2,000 kg and maximum possible sale
of each product is only 500 units, then what should be the most
beneficial sales mix.

Q.4)

The following are the estimates of Mr. Budget :

Months Sales Purchases| Wages Factory Other
Exp. Overheads
November | 4,00,000 [ 1,80,000 | 50,000 30,000 2,000
December | 3,60,000 [ 1,90,000 | 50,000 40,000 2,000
January 3,80,000 | 1,80,000 | 60,000 35,000 2,500
February 4,00,000 | 1,90,000 | 70,000 40,000 4,000
March 3,50,000 | 2,20,000 | 75,000 35,000 6,000
April 4,20,000 | 2,70,000 | 60,000 38,000 8,000
May 3,80,000 | 2,90,000 | 70,000 42,000 7,500
3 P.T.O.
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Additional Information :

1)

(2)

)

(4)

()
(6)

(7)

25% of the sales are cash sales. 40% of the credit sales are recovered
in the next month while the remaining two months after.

20% of the purchases are made by making an advance payment of
one month, 10% of the purchases are on cash basis while the
remaining purchases are made on 1 month credit.

Wages are paid on every 7th day of the next month.

Factory and other overheads are fixed to the extent of 80% and 60%
respectively which are paid in the same month.

Variable Overheads are paid one month in arrear.

Advance Income-tax Rs. 45,000 is to be deposited in the month of
January. Interest on 15,000, 14% Convertible Debentures of Rs. 10
each, issued 2 years back at 20% premium, is due on 1st April and
1st October every year.

Balance as on 1st January, 2010 - Rs. 1,00,000.

You are required to prepare Cash Budget for the period from 1st January
to 30th April, 2010.

OR

Q.4) What do you mean by Budget and Budgetary Control ? Explain various
types of Budgets.

Q.5) Write notes on any two of the following :

(@)
(b)
(©)

Tools and Techniques of Management Accounting
Distinction between Cash Flow Statement and Fund Flow Statement

Application of Marginal Costing in Managerial Decision - making
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M. Com. (E-Commerce) (Semester - 1) Examination - 2009
STATISTICAL METHODS AND ANALYSIS
Time : 3 Hours] [Max. Marks : 70
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of statistical table and calculators is allowed.

(4) Symbols and abbreviations have their usual meanings.

Q.1) Attempt any three of the following : [05 each]

(a) Explain concept of Multiple Correlation and Partial Correlation
in case of trivariate data giving two illustractions of each.

(b) What is Time Series ? Discuss utility of time series analysis
in various fields.

(c) The local authorities in a certain city install 10,000 electric lamps
in the streets of the city. If these lamps have an average life
of 1,000 burning hours with a standard deviation of 200 hours,
assuming normality, what is the number of lamps that might be
expected to fail ?

(i) in the first 800 hours ?
(i)  between 800 and 1200 hours ?

(d) A sample of 400 male students is found to have mean weight
of 50.47 kg. Can it be regarded as a sample from a large
population with mean weight 52 kg, given that population
standard deviation is 1.2 kg ? [Use 5% level of significance]

(e) Explain the term ‘Simulation’. Also state merits and demerits
of Simulation Technique.
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Q.2) Attempt any three of the following : [05 each]

(a) Fit a trend line to the following time series by the least squares

method :
Year 1998 1999 2000 2001 2002
Production 12 20 28 32 50

Obtain trend value of production for the year 2007.
(b) Define Normal Distribution and State its important properties.
(c) Explain the following terms :

(1)  Null Hypothesis

(i)  Statistics

(iti) Level of Significance

(iv) Ciritical Region

(v) Two Types of Errors in Testing of Hypothesis
(d) In a trivariate data

r, =06, r,=207r, =065

Hence find values of —

(i)  the multiple correlation coefficient R, ,

(ii) the partial correlation coefficient r ..

(e) A Manager of Quality Control Department in the company
wanted to examine whether the number of defective items
produced per hour by an engineer is related with incentive bonus
that the employee gets for every non-defective item produced.
He examined records of 18 employees at random and found
correlation coefficient of —-0.5836. Does it indicate that the
number of defectives produced and incentive bonus for producing
non-defectives are uncorrelated ? [Use 5% level of significance]
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Q.3) Attempt any three of the following :
(a) Explain any two components of a time series with illustrations.
(b) Two random samples gave following results :

[05 each]

Sample Size Sample Sum of Squares of
No. Mean | Deviations from the Mean
1 10 15 90
2 12 14 108

Assuming that both samples have been obtained from normal
populations, test at 10% level of significance that two populations
have equal variance.

(c) A company producing spark plugs claimed that there would be
10% defective spark plugs. When a sample of 500 spark plugs
was drawn, 62 were found to be defective. Is the claim of the
company acceptable on the basis of given data ?

[Use 1% level of significance]

(d)  Write short note on ‘Monte-Carlo’ Simulation Technique.

(e) Let X and Y be two independent normal variates with means
1, 2 and variances 1, 4 respectively.

Find :

() P@X+Y>D3)
(i) Var (3X - 2Y)

Q.4) Attempt any three of the following :
(@) Write short note on ‘Pseudo Random Numbers Generator’.

(b) For the given time series obtain trend values by three yearly
moving average method :

Year

Profit in Thousands Rs.

2001
2002
2003
2004
2005
2006
2007

60
72
71
65
80
85
95

Also plot actual and trend values on a graph.
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(©)

(d)

(€)

Ten individuals are selected at random from a normal population
and their heights are found to be 63, 63, 66, 67, 68, 69, 70,
71, 71, 70 inches.

Test whether the sample comes from the population with mean
height 66 inches.

[Use 5% level of significance]

Explain concept of Autoregressive Models used in time series
analysis and describe in brief fitting of AR(1) Model.

A certain machine is supposed to produce red, yellow and green
candy wrappers in the ratio 4 : 3 : 2. In a sample of 90 wrappers
produced by the machine, 31 red, 38 yellow and 21 green
wrappers were observed. Is the machine working properly ?

[Use 1% level of significance]

Q.5) Attempt any one of the following :

(@)

(b)

(i) Marks scored by a candidate in an examination follows
normal distribution. 44% of the candidates obtained marks
below 55 and 6% of the candidates obtained marks above
80. Find mean and variance of the marks. [07]

(i) Explain in brief graphical method of estimating Trend
using time series analysis. [03]

Y, Y, Y, are the heights (in cm) of son, mother and father
respectively :

Y1=170, Y2 = 160, Y3 = 168
L= 24, , = 2.7, ; = 2.7
r, =028 r,=049, r,=051

(i) Obtain equation of least squares regression plane of
Y, onY,and Y.

(iii) Estimate Y, when Y, = 150 and y, = 160. [10]
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M. Com. (E-Commerce) ( Semester - 1) Examination - 2009
PERSPECTIVES OF COMMERCIAL AND BUSINESS GROWTH

Time : 3 Hours] [Max. Marks : 70
Instructions :

(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) “Profit making is the primary goal of any Business Enterprise.” Do
you agree with this statement ? Justify your answer. [14]

OR

Q.1) Define the term “Globalisation’. What are the essential conditions for
Globalisation ? [14]

Q.2) What do you mean by the term ‘Business Environment’ ? Explain the
controllable factors of Business Environment. [14]

OR
Q.2) Describe the weakness of the new agricultural strategy in connection
with the Green Revolution. [14]

Q.3) “There is much scope for improving efficiency and working of Public
Sector Enterprises.” Considering this statement, explain the shortcomings

of Public Sector Enterprises. [14]
OR
Q.3) Distinguish between :
(@ Mergers and Acquisitions [07]
(b) Partnership and Joint Venture [07]
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Q.4) Write a detailed note on merits and demerits of Multinational
Companies. [14]

OR

Q.4) “The changes which have been taking place in India have necessitated
banking companies to perform new and progressive functions.” Explain. [14]

Q.5) Write short notes on any two of the following : [14]
(@ Scams in Capital Market
(b) Appraisal of the Economic Reforms introduced in 1991
(c) Problems faced by Small Enterprises

(d) Role of Small Enterprises in Indian Economy
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qAT
(1) TG F97 FIL(A0T STT9TFH 3TE.
(2) ITAIFSIT 37F FoATd gUr O FIfaaa.
9.1) “AT THeAIU B HIOTaTE ST AR YTTHeS &0 3/, ” g9 et
Tl WEAd MMM FE ¢ qHE Iaud AT HA [14]
Tehar
.1) ‘SRMahIEor Hheqadl AT dT. STRTehIBIOTEe! TATITE Il
(Conditions) =iorer ? [14]
9.2) ‘HATIHIUF TAEOT HheddT TS B ¢ ATaHS qraomd ==y
ITAT T W USH W B [14]
Tehar
9.2) ERA Hidream WSWIA AdE HEEEET IrauEien geaar 9o & [14]
9.3) “TTGSIR AT JTNTET HTHETHAT STOT HTHABIS I GO FHR0ATH
SR A9 3R, & e faamd 99 Qrasitaeh SIdiel STTeaT eerdl
e [14]
Tehar
7.3) ®h W HF .
(37) Tafateor smivr d@urgs (Mergers and Acquisitions) [07]

(F) WSS IMOT FIaT ghed (Partnership and Joint Venture)  [07]
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9.4) TEUEE BYLTS IOT IAOT FY IR WA o foTaT. [14]

Tehar
9.4) “ARAT G Id AT SSAHes SBIT HAAT ATGREOT 37T
WA FE R U0 WA US| ITR.7 TS L [14]
9.5) TTCcds! SRl JiaT aigedra feur foar - [14]

(31) ¥iSad TN =T

() 9T [ Holedl AMIH  FEROT

(F) TLSIETAT THE

(3) WA AR ASANTTET  HIHBT
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